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INTERMEDIATE EXAMINATION – 2022 (ANNUAL) 

Model Set 

Sociology (Elective)

Total No. of questions – 100 + 30 + 8 =138 
dqy iz’uksa dh la[;k & 100 $ 30 $ 8 ¾ 138 

Instructions for the candidates :- 

1- ijh{kkFkhZ OMR mÙkj&i=d ij viuk iz’u iqfLrdk Øekad ¼10 vadksa dk½ 

vo’; fy[ksaA 

Candidates must enter his/her Question Booklet Serial No. (10 

Digits) in the OMR Answer Sheet.  

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

3- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- iz’uksa dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; 

fn;k x;k gSA 

15 minutes of extra time has been allotted for the candidates to 

read the questions carefully. 

5- ;g iz’u&iqfLrdk nks [k.Mksa esa gS &  ,oa  

Time :- 3 Hours 15 minutes 
le; % 3 ?kaVs 15 feuV 

Full Mark - 100 
iw.kkZad & 100 

325 
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This question booklet is divided into two sections - Section-A and 

Section-B. 

6- [k.M&v esa 100 oLrqfu"B iz’u gSa] ftuesa ls fdUgha 50 iz’uksa dk mÙkj nsuk 

vfuok;Z gSA 50 iz’uksa ls vf/kd dk mÙkj nsus ij izFke 50 dk gh ewY;kadu 

gksxkA izR;sd ds fy, 1 vad fu/kkZfjr gSA budk mÙkj nsus ds fy, miyC/k 

djk;s x, OMR mÙkj i=d esa fn, x, lgh fodYi dks uhys @ dkys ckWy 

isu ls izxk<+ djsaA fdlh Hkh izdkj ds âkbVuj @ rjy inkFkZ @ CysM @ 

uk[kwu vkfn dk OMR mÙkj i=d esa iz;ksx djuk euk gS( vU;Fkk ifj.kke 

vekU; gksxkA 

In Section-A, there are 100 objective type questions, out of which 

any 50 questions are to be answered. If more than 50 questions 

are answered, then only first 50 will be evaluated. Each question 

carries 1 mark. Darken the circle with blue / black ball pen against 

the correct option on the OMR Answer Sheet provided to you. Do 

not use Whitener / liquid / blade / nail etc on OMR Answer Sheet, 

otherwise the result will be invalid. 

7- [k.M&c esa 30 y?kq mÙkjh; iz’u gSaA izR;sd ds fy, 2 vad fu/kkZfjr gS] ftuesa 

ls fdUgha 15 iz’uksa dk mÙkj nsuk vfuok;Z gSA blds vfrfjDr bl [k.M esa 8 

nh?kZ mÙkjh; iz’u fn, x, gSa] izR;sd ds fy, 5 vad fu/kkZfjr gSa] ftuesa ls 

fdUgha 4 iz’uksa dk mÙkj nsuk vfuok;Z gSA  
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In Section-B, there are 30 short answer type questions. Each 

carries 2 marks, out of which any 15 questions are to be 

answered. Apart from this there are 8 Long answer type  

questions. Each question carries 5 marks, out of which any 4 

questions are to be answered.  

8- fdlh izdkj ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any type of electronic appliances is strictly prohibited.

 Section-A 

Objective Type Questions 

iz'u la[;k 1 ls 100 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls ,d 

lgh gSA vius }kjk pqus x, lgh fodYi dks OMR&’khV ij fpfUgr djsaA fdUgha 50 iz’uksa 

dk gha mÙkj nsaA         (50x1=50) 

Question No.- 1 to 100 have four options, out of which only one is correct. 

You have to mark your selected option on the OMR-sheet. Answer any 50 

questions.          (50x1=50) 

1- lekt’kkL= dk tud fdUgsa dgk tkrk gS \ 

(A) Lisalj     (B) vxLr dkWEV 

(C) nq[khZe     (D) dkyZ ekDlZ 

Who is known as the Father of Sociology ? 

(A) Spencer     (B) Auguste Comte 
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(C) Durkheim    (D) Karl Marx 

2- fuEu esa ls dkSu Hkkjrh; lekt dh fo’ks"krk ugha gS \ 

(A) vusdrk esa ,drk    (B) laLdkjksa }kjk lekthdj.k 

(C) iq:"kkFkZ     (D) ,dkdh ifjokj 

Which among the following is the features of Indian Society ? 

(A) Unity in diversity    

(B) Socializaiton through Sanskar 

(C) Purushartha  

(D) Nuclear family 

3- fuEu esa fdUgksaus ^cfgfoZokg* 'kCn dks x<+k gS \ 

(A) Vk;yj     (B) eSDysuu 

(C) ekWxZu     (D) ist 

Who among the following has conined the term ‘exogamy’ ? 

(A) Tylor     (B) McLennan 

(C) Morgan     (D) Page 

4- dkSu fookg ,d laLdkj gS \ 

(A) fgUnw fookg     (B) eqfLye fookg  

(C) tutkrh; fookg    (D) bZlkbZ fookg 
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Which marriage is a Sacrament ? 

(A) Hindu Marriage    (B) Muslim Marriage 

(C) Tribal Marriage    (D) Christian Marriage 

5- fgUnw fookg dk dkSu lk izdkj izse fookg ds lekukUrj gS \ 

(A) czã fookg     (B) vk"kZ fookg  

(C) nSo fookg     (D) xU/koZ fookg 

Which type of Hindu marriage is equivalent to love marriage? 

(A) Brahma Vivah    (B) Arsha Vivah 

(C) Daiva Vivah    (D) Gandharva Vivah 

6- fuEu esa dkSu iztuuewyd ifjokj dks LFkkfir djus dk lekt }kjk Lohd`r 

iz.kkyh gS \ 

(A) xk¡o      (B) /keZ  

(C) fookg     (D) laLdkj 

Which of the following is Socially approved way of establishing a 

family of Procreation ? 

(A) Village     (B) Religion 

(C) Marriage     (D) Sanskar 

7- th0 ,l0 ?kqfj;s }kjk tkfr dh fdruh fo’ks"krkvksa dks fo’ysf"kr fd;k x;k \ 
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(A) ik¡p      (B) N%  

(C) lkr      (D) vkB 

How many features of caste has been analysed by G. S. Ghurye ? 

(A) Five     (B) Six 

(C) Seven     (D) Eight 

8- MkW0 jk/kkd"̀.ku ds vuqlkj Hkkjrh; laLd`fr dh vkRek D;k gS \ 

(A) xzkeh.k x.kra=    (B) /kkfeZd fofo/krk  

(C) iqutZUe dk pØ    (D) v/;kReokn 

According to Radhakrishnana what is the soul of Indian Culture ? 

(A) Village democracy   (B) Religious diversity 

(C) Cycle of re-birth   (D) Spiritualism 

9- fgUnw lekt esa fdrus ;Kksa dh ppkZ dh xbZ gS \ 

(A) nks      (B) rhu  

(C) pkj      (D) ik¡p 

How many Yagya has been described in Hindu Society ? 

(A) Two     (B) Three 

(C) Four     (D) Five 

10- fuEu esa ls Hkkjr esa jk"Vªh; ,dhdj.k ds ekxZ esa dkSu ck/kd ugha gS \ 
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(A) lEiznk;okn    (B) {ks=okn  

(C) Hkk"kkokn     (D) 'kSf{kd fodkl 

Which of the following is not an obstacle in the path of National 

integration ? 

(A) Communalism    (B) Regionalism 

(C) Languism    (D) Educational development 

11- ^fduf’ki vkWjsxsukbts’ku bu bafM;k* uked iqLrd fdlus fy[kk \ 

(A) ih0 ,p0 izHkq    (B) bjkorh dkosZ  

(C) Vh0 ,u0 enu    (D) etqenkj 

Who wrote the book “Kinship organization in India” ? 

(A) P. H. Prabhu    (B) Irawati Karve 

(C) T. N. Madan    (D) Mazumdar 

12- jk"Vªh; ,drk lfefr dk fuekZ.k dc gqvk \ 

(A) 1955     (B) 1960  

(C) 1957     (D) 1961 

In which year ‘National Integration Council’ was formed ? 

(A) 1955     (B) 1960  

(C) 1957     (D) 1961 
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13- fdlus dgk fd ^^fgUnw fookg ,d laLdkj gS \** 

(A) th0- ,l0- ?kqfj;s    (B) esdkbZoj ,oa ist 

(C) ih0- ,0- lksjksfdu    (D) dwys 

Who said that “Hindu marriage is a sacrament” ? 

(A) G. S. Ghurye    (B) MacIver & Page 

(C) P. (A) Sorokin    (D) Cooley 

14- jDr laca/k ij vk/kkfjr ukrsnkjh dgykrk gS % 

(A) lfEefyr ukrsnkjh    (B) lejDr ukrsnkjh  

(C) oxhZd`r ukrsnkjh    (D) fof’k"V ukrsnkjh 

The kinship based on blood ties is called : 

(A) Affinal Kinship    (B) Consanguineous Kinship 

(C) Classified Kinship   (D) Particularistic Kinship 

15- tc ,d mPp o.kZ dh yM+dh vius ls fuEu o.kZ ds yM+ds ls fookg djrh gS rks 

mls ge D;k dgrs gSa \ 

(A) ofgZfookg     (B) var% fookg  

(C) izfrykse fookg    (D) vuqykse fookg 

What do we call when a girl at higher varna marries a boy of lower 

varna ? 
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(A) Exogamy     (B) Endogamy 

(C) Hypogamy    (D) Hypergamy 

16- eqlyekuksa esa fookg foPNsn ds fdrus izdkj gSa \ 

(A) nks      (B) ik¡p  

(C) pkj      (D) N% 

There are how many types of divorce among Muslims ? 

(A) Two     (B) Five 

(C) Four     (D) Six 

17- fo/kok iquZfookg vf/kfu;e fdl o"kZ ikfjr gqvk \ 

(A) 1856     (B) 1956  

(C) 1961     (D) 1975 

In which year the ‘Widow remarriage Act’ was enacted ? 

(A) 1856     (B) 1956  

(C) 1961     (D) 1975 

18- Hkkjr esa fuEu esa dkSu lh ifjfLFkfr rykd dk dkj.k ugha gS \ 

(A) Øwjrk     (B) ;kSfud nks"k  

(C) larku u gksuk    (D) csjkstxkjh 
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Which of the following situation is not the cause of divorce in 

India? 

(A) Cruelty     (B) Sexual disorder 

(C) Infertility     (D) Unemployment 

19- esgj dk laca/k fdl fookg ls gS \ 

(A) eqfLye     (B) fgUnw  

(C) fl[k     (D) bZlkbZ 

Mehar is associated with which marriage ? 

(A) Muslim     (B) Hindu 

(C) Sikh     (D) Christian 

20- iqutZUe dh vo/kkj.kk fdl /keZ ls lacaf/kr gS \ 

(A) fgUnw     (B) eqfLye  

(C) bZlkbZ     (D) tSu 

Concept of Re-birth associated with which religion ? 

(A) Hindu     (B) Muslim 

(C) Christian     (D) Jain 

21- fgUnqvksa esa fookg ,d % 

(A) le>kSrk gS     (B) laLdkj gS  
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(C) lkekftd laLFkk gS   (D) fopkj/kkjk gS 

Marriage among Hindu is a : 

(A) Social contract    (B) Sacrament 

(C) Social institution   (D) Idelology 

22- ,d eqlyeku iq:"k fdruh fL=;ksa ls fookg dj ldrk gS \ 

(A) pkj      (B) rhu  

(C) nks      (D) ik¡p 

A muslim man can marry with how many women ? 

(A) Four      (B) Three 

(C) Two     (D) Five 

23- fdlus dgk] ^^tkfr ,d xfrghu oxZ gS** \ 

(A) etqenkj     (B) dqys  

(C) dsrdj     (D) ?kqfj;s 

Who said “Caste is a class immobile” ? 

(A) Mazumdar    (B) Cooley 

(C) Ketkar     (D) Ghurye 

24- dkSu lh ,d ,slh izfØ;k gS ftlesa fuEu fgUnw tkfr mPp tkfr ds lanHkZ esa 

viuh izFkkvksa esa ifjorZu djrk gS \ 
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(A) laLd`frdj.k    (B) vk/kqfudhdj.k  

(C) if’pehdj.k    (D) /keZ fujis{khdj.k 

Which of the following is the process by which low Hindu Caste 

changes its customs in accordance with high caste ? 

(A) Sanskritization    (B) Modernization 

(C) Westernization    (D) Secularization 

25- fuEu esa ls dkSu tkfr O;oLFkk dh ekSfyd fo’ks"krk ugha gS \ 

(A) [k.MkRed foHkktu   (B) xfr’khyrk  

(C) varfoZokg     (D) laLrj.k 

Which one of the following is not a fundamental feature of caste 

system ? 

(A) Segmental division   (B) Mobility 

(C) Endogamy    (D) Hierarchy 

26- fo’o esa vk/kqfudhdj.k dh izfØ;k dc izkjEHk gqbZ \ 

(A) 16oha 'krkCnh    (B) 17oha 'krkCnh  

(C) 18oha 'krkCnh    (D) 15oha 'krkCnh 

When the process of Modernisation began in the world ? 

(A) 16th Century    (B) 17th Century 
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(C) 18th Century    (D) 15th Century 

27- ^Lo.kZ t;Urh Lojkstxkj ;kstuk* fdl o"kZ ykxw gqvk \ 

(A) 1997     (B) 1998  

(C) 1999     (D) 2000 

In which year ‘Swarna Jayanti ; Swarojgar Yojna’ was introduced ? 

(A) 1997     (B) 1998  

(C) 1999     (D) 2000 

28- fcgkj esa iapk;rh jkt laLFkkvksa dk dk;Zdky D;k gS \ 

(A) nks o"kZ     (B) pkj o"kZ  

(C) rhu o"kZ     (D) ik¡p o"kZ 

What is the tenure of Panchayati Raj institution in Bihar ? 

(A) Two years    (B) Four years 

(C) Three years    (D) Five years 

29- fuEu esa ls fdlls cyoUr jk; esgrk lfefr dk laca/k gS \ 

(A) Hkwfe lq/kkj     (B) iapk;rh jkt  

(C) uDly vkanksyu    (D) cky Jfed 

Balwant Rai Mehta committee is associated with which of the 

following ? 
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(A) Land Reform    (B) Panchayati Raj 

(C) Naxal Movement   (D) Child Labour 

30- Hkkjr esa orZeku dkuwu ds vuqlkj yM+ds ,oa yM+fd;ksa ds fookg dh U;wure 

vk;q D;k gS \ 

(A) 18 ,oa 16 o"kZ    (B) 17 ,oa 15 o"kZ  

(C) 21 ,oa 18 o"kZ    (D) 24 ,oa 20 o"kZ 

What is the age of marriage for boys and girls in India as per 

existing Law ? 

(A) 18 and 16 years   (B) 17 and 15 years 

(C) 21 and 18 years   (D) 24 and 20 years 

31- eqfLye fookg esa o/kqewY; dks D;k dgk tkrk gS \ 

(A) ngst     (B) esgj  

(C) utjkuk     (D) jde 

What is the name of bride Price in muslim marriage ? 

(A) Dowry     (B) Mehar 

(C) Gift     (D) Amount 

32- fuEu esa ls dkSu tutkrh; lekt dh leL;k ugha gS \ 

(A) Hkwfe vyxko    (B) NqvkNwr  
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(C) A vkSj B nksuksa    (D) LolaLd`frokn 

Which of the following is not a problem of tribal society ? 

(A) Land alienation   (B) untouchability 

(C) Both A and B    (D) Ethnocentrism 

33- Hkkjrh; laLd`fr esa fdrus iq:"kkFkZ gSa \ 

(A) nks      (B) rhu  

(C) pkj      (D) ik¡p 

There are how many Purushartha in Hindu Culture ? 

(A) Two     (B) Three 

(C) Four     (D) Five 

34- fuEu esa dkSu lkekftd Lrjhdj.k dk vk/kkj ugha gS \ 

(A) lEifÙk     (B) f’k{kk  

(C) O;olk;     (D) izfrLi)kZ 

Which of the following is not the basis of Social Stralification ? 

(A) Wealth     (B) Education 

(C) Occupation    (D) Competition 

35- o.kkZRed ca/kqrk fuEu esa ls fdl ukrsnkj ds lkFk iz;qDr gksrh gS \ 

(A) HkkHkh     (B) pkpk  
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(C) ekSlk     (D) ekek 

Classificatory Kinship term is used for which of the following kin? 

(A) Bhabhi     (B) Chacha 

(C) Mausa     (D) Mama 

36- fuEu esa ls dkSu lkekftd ifjoÙkZu ykus esa vge Hkwfedk fuHkkrs gSa \ 

(A) lekpkj i=    (B) Vsyhfotu  

(C) dEI;wVj usVodZ    (D) laxks"Bh 

Which of the following plays most effective role in bringing about 

social change ? 

(A) News paper    (B) Television 

(C) Computer Network   (D) Seminar 

37- tokgj jkstxkj ;kstuk dh 'kq:vkr dc gqbZ Fkh \ 

(A) 1975     (B) 1978  

(C) 1982     (D) 1989 

When Jawahar Rojgar Yojana was launched ? 

(A) 1975     (B) 1978  

(C) 1982     (D) 1989 
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38- ,d ,e0 ,0 fMxzh/kkjd tks vkns’kiky ds :Ik esa dk;Zjr gS] fuEu esa fdldk 

mnkgj.k gS \ 

(A) iw.kZ jkstxkj dk    (B) csjkstxkjh dk  

(C) v)Z jkstxkj dk    (D) Lojkstxkj dk 

An M. (A) degree holder working as a peon is an example of which 

of the following ? 

(A) Full employment   (B) Unemployment 

(C) Semi employment   (D) Self employment 

39- ysohjsV D;k gS \ 

(A) lkyh fookg    (B) cgq fookg  

(C) nsoj fookg     (D) cgqifr fookg 

What is Levirate ? 

(A) Marriage with wife’s younger sister 

(B) Polygami 

(C) Marriage with husband’s yonger brother 

(D) Polyandary 

40- fuEu esa oS’ohdj.k dk D;k nq"izHkko gS \ 

(A) lkoZ HkkSehdj.k    (B) ,dhdj.k  
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(C) ltkrh;rk     (D) dk;Z ¼tkWc½ dh vuq’kalk 

Which of the following is the bad effect of globalization ? 

(A) Universalization   (B) Integration 

(C) Homogeneity    (D) Insecurity of job 

41- ^73ok¡ lafo/kku la’kks/ku vf/kfu;e] 1993* efgykvksa dk l’kfDrdj.k fdl Lrj 

ij djrk gS \ 

(A) jk"Vªh; Lrj ij    (B) iapk;r Lrj ij  

(C) jkT; Lrj ij    (D) B vkSj C ds Lrj ij 

‘The 73rd constitution Amendment Act, 1993’ empowers women at 

which level ? 

(A) At National Level   (B) At Panchayat Level 

(C) At State Level    (D) At the Levels of B and C 

42- fdlus ySafxd vlekurk ds lkr izdkj dk mYys[k fd;k gS \ 

(A) ikf.kdj     (B) etwenkj  

(C) ,l0 lh0 nwcs    (D) veR;Z lsu 

Who has described seven types of gender inequality ? 

(A) Pannikar     (B) Mazumdar 

(C) S. (C) Dube    (D) Amartya Sen 
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43- fuEu esa ls dkSu fiNM+s oxksZa ds fy;s cuk, x;s deh’ku ds izFke v/;{k Fks \ 

(A) eqaxsjhyky     (B) dkdk dysydj  

(C) diwZjh Bkdqj    (D) ch0 ih0 eaMy 

Who was the first chairman of Backward class commission ? 

(A) Mungerilal    (B) Kaka Kalelkar 

(C) Karpoori Thakur   (D) (B) P. Mandal 

44- Hkkjr ds fdl jkT; esa fiNM+h tkfr vkUnksyu loZizFke 'kq: gqvk \ 

(A) fcgkj     (B) if’pe caxky  

(C) rfeyukMw     (D) vkU/kz izns’k 

In which state of India backward caste movement had started first? 

(A) Bihar     (B) West Bengal 

(C) Tamilnadu    (D) Andhra Pradesh 

45- ^ySafxd mRihM+u ls cPpksa ds laj{k.k dk vf/kfu;e* ¼ikWDlks½ fdl o"kZ ikfjr 

gqvk\ 

(A) 1998     (B) 2012  

(C) 2014     (D) 2019 

In which year ‘Protection of Children from Sexual Offence Act 

(POCSO) was enacted ? 
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(A) 1998     (B) 2012  

(C) 2014     (D) 2019 

46- xzkeh.k Hkkjr esa tu lapkj ds fd, lk/ku dk izpyu lcls vf/kd gS \ 

(A) lekpkj i=    (B) pyfp=  

(C) Vsyhfotu     (D) jsfM;ks 

Which means of mass media is most popular in rural India ? 

(A) News Paper    (B) Cinema 

(C) Television    (D) Radio 

47- jk"Vªh; efgyk vk;ksx dk xBu fdl o"kZ gqvk \ 

(A) 2005     (B) 1947  

(C) 1975     (D) 1992 

In which year ‘National commission for Women’ was established ? 

(A) 2005     (B) 1947  

(C) 1975     (D) 1992 

48- fuEu esa ls dkSu eaMy vk;ksx ds v/;{k Fks \ 

(A) ch0 ih0 eaMy    (B) txthou jke  

(C) /kfudyky eaMy    (D) ehjk dqekj 
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Who among the following was the chairman of Mandal 

Commission ? 

(A) (B) P. Mandal    (B) Jagjiwan Ram 

(C) Dhaniklal Mandal   (D) Meera Kumar 

49- Hkkjrh; lafo/kku dh fdl /kkjk esa Hkz"Vkpkj dh ladYiuk dks ifjHkkf"kr fd;k 

x;k gS \ 

(A) 16      (B) 17  

(C) 161      (D) 162 

In which Article of Indian constitution the term corruption has been 

defined ? 

(A) 16      (B) 17  

(C) 161      (D) 162 

50- nfyr oxZ dY;k.k yhx dh LFkkiuk fdlus dh Fkh \ 

(A) egkRek xk¡/kh    (B) jke foykl ikloku  

(C) vEcsndj     (D) ts0 ch0 d`iykuh 

Who had established “Dalit Varga Kalyan League” ? 

(A) Mahatma Gandhi   (B) Ram Vilas Paswan 

(C) Ambedkar    (D) J. (B) Kripalani 
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51- fcgkj esa csjkstxkjh HkÙkk ds fy, fdl vk;q lewg ds csjkstxkj gdnkj gSa \ 

(A) 21 & 31     (B) 18 & 25  

(C) 18&27     (D) 16&27 

Which age group of unemployed is entitled for unemployment 

allowance in Bihar ? 

(A) 21 & 31     (B) 18 & 25  

(C) 18&27     (D) 16&27 

52- ?kjsyw fgalk D;k gS \ 

(A) /kkfeZd fgalk      

(B) ifjokj ds vUrxZr gksus okyh fgalk  

(C) xzkeh.k fgalk 

(D) lkeqnkf;d fgalk 

What is Domestic Violence ? 

(A) Religious Violence   (B) Violence within family 

(C) Rural Violence    (D) Community Violence 

53- ^dwokn* 'kCn fuEu esa fdlls tqM+k gS \ 

(A) /keZ      (B) ;qokx`g  

(C) ukrsnkjh     (D) fookg 



23 
 

The term ‘couvade’ is associated with which of the following ? 

(A) Religion     (B) Youth organisation 

(C) Kinship     (D) Marriage 

54- fuEu esa ls dkSu ekuo rLdjh dk dkj.k ugha gS \ 

(A) os’;ko`fr     (B) cykr~ fookg  

(C) vaxksa dk fu"d"kZ.k    (D) lkekftd ifjorZu 

Which among the following is not a cause of Human Trafficking ? 

(A) Prostitution    (B) Forced marriage 

(C) Extractions    (D) Social change 

55- ckyJe mUewyu vfHk;ku gsrq fdUgsa ukscsy 'kkafr iqjLdkj fn;k x;k gS \ 

(A) dSyk’k lR;kFkhZ    (B) eykyk ;qlqQtbZ 

(C) enj Vsjslk     (D) oh0 oh0 fxjh 

Who has been awarded Nobel Peace Prize for his compaign 

against child labour ? 

(A) Kailash Satyarthi   (B) Malala Yousafzai 

(C) Mother Teresa    (D) V. V. Giri 

56- fuEu esa ls fdUgksaus Hkkjrh; tutkfr;ksa ds fy, ^^vyxko dh uhfr** dh odkyr 

dh \ 
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(A) ?kqfj;s     (B) csyh  

(C) ,fYou     (D) Jhfuokl 

Who advocated the “Policy of Isolation” for the tribals of India ? 

(A) Ghurye     (B) Bailey 

(C) Elwin     (D) Srinivas 

57- ^MsUtjl MªXl ,DV* fdl o"kZ ikfjr fd;k x;k \ 

(A) 1930     (B) 1931  

(C) 1933     (D) 1938 

In which year ‘Dangerous Drugs Act’ was enacted ? 

(A) 1930     (B) 1931  

(C) 1933     (D) 1938 

58- rkukHkxr vkUnksyu fuEu esa fdl tutkfr ls tqM+k gS \ 

(A) eq.Mk     (B) laFkky  

(C) gks      (D) mjk¡o 

Tana Bhagat movement is associated with which of the following 

tribe ? 

(A) Munda     (B) Santhal 

(C) Ho      (D) Oraon 
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59- fuEu esa ls fdl tutkfr esa ^^;qok laxBu** dks ^^ftfr;ksjk** dgk tkrk gS \ 

(A) mjk¡o     (B) Hkqat  

(C) laFkky     (D) igkfM+;k 

In which of the following tribe ‘youth organization’ is known as 

‘Gitiora’ ? 

(A) Oraon     (B) Munda 

(C) Santhal     (D) Pahadia 

60- ^jk"Vªh; vuqlwfpr tkfr ,oa vuqlwfpr tutkfr vk;ksx* dh LFkkiuk fdl o"kZ 

dh xbZ \ 

(A) 1980     (B) 1990  

(C) 1970     (D) 1952 

In which ‘year National and Scheduled Caste and Scheduled 

Tribe’ commission was established ? 

(A) 1980     (B) 1990  

(C) 1970     (D) 1952 

61- Lkekt’kkL= dk tUe fdl ns’k esa gqvk \ 

(A) Hkkjr     (B) vesfjdk  

(C) baXySaM     (D) Ýkal 

In which country Sociology was born ? 
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(A) India     (B) America 

(C) England      (D) France 

62- fdl o"kZ dks efgyk l’kfDrdj.k o"kZ* ds :Ik esa ?kksf"kr fd;k x;k \ 

(A) 2000     (B) 2002  

(C) 2001     (D) 2003 

Which year was declared as ‘women empowerment year’ ? 

(A) 2000     (B) 2002  

(C) 2001     (D) 2003 

63- fdl o"kZ ,dy ckfydk lh0 ch0 ,l0 bZ0 ;kstuk dh 'kq:vkr dh xbZ Fkh \ 

(A) 2008     (B) 2009  

(C) 2015     (D) 2014 

In which year single Girl Child CBSE Scheme was launched ? 

(A) 2008     (B) 2009  

(C) 2015     (D) 2014 

64- fuEu esa ls dkSu tkfr O;oLFkk esa ifjoÙkZu dk dkjd ugha gS \ 

(A) if’pehdj.k    (B) vk/kqfud f’k{kk  

(C) ijEijkxr     (D) vk/kqfudhdj.k 

Which of the following is not a factor of change in caste system ? 

 

(A) Westernization    (B) Modern education 

(C) Traditional attitude   (D) Modernization 
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65- fuEu esa ls dkSu lEiznkf;drk dk dkj.k ugha gS \ 

(A) /kkfeZd dV~Vjrk    (B) lkaLd`frd f’k{kk  

(C) jktuhfrd LokFkZ    (D) vk/kqfud f’k{kk 

Which of the following is not the cause of Communalism ? 

(A) Religious intolerance   (B) Cultural difference 

(C) Political interest   (D) Modern education 

66- ,e0 ,u0 Jhfuokl us vkjaHk esa laLd`frdj.k dks fdl uke ls lEcksf/kr fd;k \ 

(A) ykSfddhdj.k    (B) czkãe.khdj.k  

(C) mnkjhdj.k     (D) vk/kqfudhdj.k 

In the beginning which term was used for sanskritization by M. N. 

Srinivas ? 

(A) Secularisation    (B) Brahminization 

(C) Liberalisation    (D) Modernization 

67- fuEu esa dkSu eks{k izkfIr dh lgh fof/k ugha gS \ 

(A) ;ksxk ekxZ     (B) dke ekxZ  

(C) Kku ekxZ     (D) HkfDr ekxZ 

Which of the following is not the correct way fo attaining Moksha ? 

(A) Meditation    (B) Sex 

(C) Knowledge    (D) Devotion 

68- ^xksy xk?ksjks* uked mRlo dk lEcU/k fdl laLFkk ls gS \ 

(A) fookg     (B) ifjokj  
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(C) tkfr     (D) U;k; 

‘Gol gadhero’ festival is associated with which institution ? 

(A) Marriage     (B) Family 

(C) Caste     (D) Justice 

69- Hkzkr`d cgqifr fookg fdl tutkfr esa izpfyr gS \ 

(A) [kl      (B) VksMk  

(C) dksVk     (D) laFkky 

In which tribe Fraternal Polyandry is practiced ? 

(A) Khas     (B) Toda 

(C) Kota     (D) Santhal 

70- ^fir`’oJs;* ukrsnkjh dk lEcU/k fdl ukrsnkj ls gS \ 

(A) cqvk      (B) ekek  

(C) pkpk     (D) ekSlh 

‘Amitate’ denotes which kinship relation? 

(A) Father’s sister    (B) Maternal uncle 

(C) Paternal uncle    (D) Mother’s sister 

71- ^,fyesUVªh QkeZ vkWQ jhfyft;l ykbQ* iqLrd ds ys[kd dkSu gS \ 

(A) Ýstj     (B) Vk;yj  

(C) nq[khZe     (D) eSDlewyj 

Who is the author of the book “Elementary form of Religious life” ? 

(A) Frazer     (B) Tylor 
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(C) Durkheim    (D) Maxmuller 

72- dsUnzh; ukjdksfVDl foHkkx dh LFkkiuk dc gqbZ \ 

(A) 1960     (B) 1947  

(C) 1950     (D) 1955 

When central Narcotics Department was established ? 

(A) 1960     (B) 1947  

(C) 1950     (D) 1955 

73- /keZ dh mRifÙk ds izd`frokn dk fl)kUr fdlus izfrikfnr fd;k \ 

(A) Ýstj     (B) Vk;yj  

(C) nq[khZe     (D) eSDlewyj 

Who propounded the theory of Naturalism in regard to the origin of 

religion ? 

(A) Frazer     (B) Tylor 

(C) Durkheim    (D) Maxmuller 

74- Hkkjr dh jk"Vª Hkk"kk dkSu gS \ 

(A) rsyxq     (B) vaxzsth  

(C) Hkkjrh;     (D) fgUnh 

Which is the National language of India ? 

(A) Telgu     (B) English 

(C) Indian     (D) Hindi 

75- fuEu esa ls dkSu lk ,d o.kZ gS \ 
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(A) czkã.k     (B) ;kno  

(C) R;kxh     (D) vxzoky 

Which one of the following is a Varna ? 

(A) Brahmin     (B) Yadav 

(C) Tyagi      (D) Agrawal 

76- ^^bf.M;u lkslkbVh** uked iqLrd ds ys[kd dkSu gSa \ 

(A) ,l0 lh0 nwcs    (B) ueZns’oj izlkn  

(C) ,e0 ,u0 d.kZ    (D) ;ksxsUnz flag 

Who is the author of the book “Indian Society” ? 

(A) S. C. Dube    (B) Narmdeshwar Prasad 

(C) M. N. Karn    (D) Yogendra Singh 

77- Hkkjrh; lekt fdrus vkJeksa esa foHkkftr gS \ 

(A) pkj      (B) ik¡p  

(C) rhu      (D) lkr 

Indian Society was divided into how many ‘Ashrams’ ? 

(A) Four     (B) Five 

(C) Three     (D) Seven 

78- fuEu esa ls dkSu Hkkjrh; laLd`fr dh fo’ks"krk ugha gS \ 

(A) /keZ dh iz/kkurk    (B) iquZtUe esa fo’okl  

(C) deZQy esa fo’okl    (D) /kkfeZd vlfg".kqrk 

Which of the following is not the characteristic of Indian culture ? 
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(A) Importance of Religion  (B) Belief in re-birth 

(C) Belief in Karm-Phal   (D) Religious intolerance 

79- ejMkWd ds vuqlkj fookg dk dkSu mís’; ugha gS \ 

(A) ;kSu bPNk dh iwfrZ   (B) cPpksa dk ikyu iks"k.k  

(C) vkfFkZd lg;ksx    (D) fe=rkiw.kZ lEcU/k dh LFkkiuk 

According to Murdock which is not the aim of marriage ? 

(A) Fullfilment of sexual needs   

(B) Upbringing of children 

(C) Economic cooperation   

(D) Establishment of friendly relationship 

80- ^nknh* ukrsnkjh dh fdl Js.kh ds vUrxZr vkrh gS \ 

(A) izkFkfed     (B) f}rh;d  

(C) rr̀h;d     (D) izkFkfed ,oa f}rh;d nksuks 

‘Grand mother’ comes under which category of kinship? 

(A) Primary      

(B) Secondary 

(C) Tertiary      

(D) Both Primary and Secondary 

81- Ukkrsnkjh dh fdurh Jsf.k;k¡ gksrh gS \ 

(A) nks      (B) rhu  

(C) pkj      (D) ik¡p 
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There are how many categories of kinship ? 

(A) Two      (B) Three 

(C) Four     (D) Five 

82- fgUnw fookg ds fdrus Lo:Ik gSa \ 

(A) vkB      (B) ik¡p 

(C) lkr      (D) pkj 

There are how many forms of Hindu marriage ? 

(A) Eight     (B) Five 

(C) Seven     (D) Four 

83- fgUnw fookg dk fuEu esa ls dkSu lk izdkj vekU; gS \ 

(A) czkã fookg     (B) nSo fookg  

(C) izktkiR; fookg    (D) vlqj fookg 

Which of the following type of Hindu marriage is disapproved ? 

(A) Brahma Vivah    (B) Daiva Vivah 

(C) Prajapatya Vivah   (D) Asur Vivah 

84- fdl /keZ esa fookg dks ,d lafonk ekuk tkrk gS \ 

(A) fgUnw      (B) bLyke  

(C) fl[k      (D) ikjlh 

In which religion marriage is treated as a contract ? 

(A) Hindu     (B) Islam 

(C) Sikh     (D) Persian 
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85- fdlus dgk ^tkfr ,d can oxZ gS* \ 

(A) etqenkj     (B) ueZns’oj izlkn  

(C) ?kqfj;s     (D) lfPpnkuan 

Who said ‘Caste is a closed class’ ? 

(A) Mazumdar    (B) Narmdeshwar Prasad 

(C) Ghurye     (D) Sachhidanand 

86- laLd`frdj.k dh vo/kkj.kk fdlus izfrikfnr dh \ 

(A) ,e0 ,u0 Jhfuokl   (B) etqenkj  

(C) ,0 vkj0 nslkbZ    (D) esdkbZoj 

Who propounded the concept of Sanskritization ? 

(A) M. N. Srinivas    (B) Mazumdar 

(C) A. R. Desai    (D) MacIver 

87- fgUnw fookg vf/kfu;e fdl o"kZ ikfjr gqvk \ 

(A) 1955     (B) 1954  

(C) 1953     (D) 1965 

In which year Hindu Marriage Act was enacted ? 

(A) 1955     (B) 1954  

(C) 1953     (D) 1965 

88- fdl lekt ea ^^iS’kkp fookg** dk izpyu Fkk \ 

(A) fgUnw lekt esa    (B) eqfLye lekt esa  

(C) fl[k lekt esa    (D) vkfnoklh lekt esa 
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In which society “Paishach Vivah” was practiced ? 

(A) In Hindu society   (B) In Muslim society 

(C) In sikh society    (D) In Tribal society 

89- tkfr dh mRifÙk dk iztkrh; fl)kUr fdlus izfrikfnr fd;k \ 

(A) uslfQYM     (B) ,l0 lh0 nwcs  

(C) gksdkVZ     (D) gcZV fjtys 

Who propounded Racial theory of the origin of Caste ? 

(A) Nesfield     (B) S. C. Dube 

(C) Hocarta     (D) Herbert Risley 

90- oxZ&foghu lekt dh LFkkiuk dh dYiuk fdlus dh \ 

(A) dkyZ ekDlZ     (B) vxLr dkWEV  

(C) eSDloscj     (D) osLVj ekdZ 

Who imagined the establishment of classless society ? 

(A) Karl Marx    (B) Auguste comte 

(C) Maxweber    (D) Westermark 

91- fuEu esa ls dkSu tkfr ugha gS \ 

(A) czkã.k     (B) 'kqnz   

(C) dq’kokgk     (D) jfonkl 

Which among the following is not a caste ? 

(A) Brahmin     (B) Shudra 

(C) Kushwaha    (D) Ravidas 
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92- Hkkjrh; lekt esa mifuos’koknh 'kklu ds D;k dkj.k Fks \ 

(A) jktuhfrd vfLFkjrk   (B) {ksf=; ruko  

(C) lkaLd̀frd fHkUurk    (D) tkfrokn 

What was the reason for colonial rule in India ? 

(A) Political instability   (B) Regional tension 

(C) Cultural difference   (D) Casteism 

93- fuEu esa ls dkSu tkfrokn dk nq"ifj.kke gS \ 

(A) vkS|ksfxd izfrLi)kZ   (B) lkekftd leL;kvksa esa òf)  

(C) ttekuh O;oLFkk    (D) ukjh f’k{kk 

Which among the following is an evil effect of casteism ? 

(A) Industrial competition  (B) Increase in social problem 

(C) Jajmani system   (D) Women education 

94- fgUnw fookg ds fdl Lo:Ik esa ,d tksM+s cSy ,oa xk; dh ekax dh tkrh gS \ 

(A) nSo fookg     (B) czã fookg  

(C) vk"kZ fookg     (D) izktkiR; fookg 

In which form of Hindu marriage a pair of Ox and Cow are 

demanded ? 

(A) Daiva Vivah    (B) Brahma Vivah 

(C) Arsha Vivah    (D) Prajapatya Vivah 

95- izkphu Hkkjrh; lekt fdrus o.kksZa esa foHkkftr Fkk \ 

(A) rhu      (B) pkj  
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(C) ik¡p      (D) nks 

Ancient Indian society was divided into how many ‘Varnas’ ? 

(A) Three     (B) Four 

(C) Five     (D) Two 

96- if’pehdj.k dh vo/kkj.kk fdlus izfrikfnr dh \ 

(A) ,e0 ,u0 Jhfuokl   (B) eSDloscj  

(C) ,l0 lh0 nwcs    (D) iklZUl 

Who propounded the concept of Westernization ? 

(A) M. N. Srinivas    (B) Maxweber 

(C) S. C. Dube    (D) Parson 

97- fuEu esa ls dkSu lkekftd ifjorZu dh fo’ks"krk ugha gS \ 

(A) fo’oO;kih     (B) lkeqnkf;d ifjorZu  

(C) LFkk;h vo/kkj.kk    (D) vfuf’pr Hkfo";ok.kh 

Which among the following is not the characteristic of social 

change ? 

(A) Worldwide    (B) Commmunity change 

(C) Stable concept    (D) Indefinite forecast 

98- fuEu esa ls dkSu lekt’kkL= esa Hkkjrh; fo|k’kkL= mikxe ds leFkZd gSa \ 

(A) th0 ,l0 ?kqfj;s    (B) vkUnzs csrs  

(C) vkj0 ds0 eq[kthZ    (D) etqenkj 
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Who among the following is the supporter of Indological approach 

in Sociology ? 

(A) G. S. Ghurye    (B) Andre Betteille 

(C) R. K. Mukherjee   (D) Mazumdar 

99- fuEu esa ls dkSu lkekftd leL;k ugha gS \ 

(A) ckyJe     (B) Hkz"Vkpkj  

(C) rLdjh     (D) vk/kqfudhdj.k 

Which among the following is not a social problem ? 

(A) Child labour    (B) Corruption 

(C) Trafficking    (D) Modernization 

100- fuEu esa ls dkSu uxjhdj.k ds udkjkRed lkekftd lkaLd`frd izHkko dks n’kkZrk 

gS \ 

(A) O;kikj vkSj okf.kT; dk foLrkj  (B) ikfjokfjd lajpuk esa ifjorZu  

(C) xanh cfLr;ksa dk fodkl   (D) f’k{kk dk fodkl 

Which among the following reflects the negative Socio-Cultural 

impact of urbanization ? 

A. Progress of trade and commerce 

B. Change in family structure 

C. Development of Slums 

D. Educational development 
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 Section-B

Short Answer Type Questions½

iz’u la[;k 1 ls 30 y?kq mÙkjh; gSaA fdUgha 15 iz’uksa ds mÙkj nsaA izR;sd ds fy, 2 vad 

fu/kkZfjr gSA           (15x2=30) 

Question no. 1 to 30 are Short Answer Type. Answer any 15 questions. 

Each question carries 2 marks.      (15x2=30) 

1- lekt'kkL= dh fdUgha nks ifjHkk"kkvksa dks fy[ksaA 

Write any two definitions of Sociology? 

2- Hkkjrh; lekt esa iq:"kkFkZ ds egRo dh foospuk djsaA 

Discuss the importance of Purushartha in Indian Society ? 

3- Hkkjrh; laLd`fr esa iquZtUe dh vo/kkj.kk dk fo’ys"k.k djsaA 

Analyse the concept of Re-birth in Indian culture. 

4- nSo fookg dks ifjHkkf"kr djsaA 

Define Daiva Vivah. 

5- izfrykse fookg D;k gS\ 

What is hypogamy ? 

6- gj.k fookg ls vki D;k le>rs gSa \ 

What do you mean by marriage by capture ? 

7- cgqifr fookg dks lksnkgj.k ifjHkkf"kr djsaA 

Define Polyandary with example. 
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8- eqrk fookg dk mnkgj.k lfgr fo’ys"k.k djsaA 

Analyze Muta marriage with example. 

9- lksjksjsV ls vki D;k le>rs gSa \ 

What do you mean by Sororate? 

10- rr̀h;d ukrsnkjh D;k gS\\ 

What is Tertiary Kinship ? 

11- ifjgkl laca/k fdls dgrs gSa \ 

What is Joking Relation ? 

12- tkfrokn ls vki D;k le>rs gSa \ 

What do you mean by Casteism ? 

13- tkrh; la?k"kZ ds nsk dkj.kksa dk o.kZu djsaA 

Describe two causes of Caste conflict. 

14- tkfr dh pkj izeq[k fo’ks"krkvksa dk mYys[k djsaA 

Explain four important features of Caste. 

15- iapk;rh jkt O;oLFkk ds vUrZxr izeq[k ds nks dk;ksZa dk o.kZu djsA 

Explain two functions of Pramukh under Panchayati Raj system. 

16- ljiap ds nks dk;ksZa dh foospuk djsaA 

Discuss the two functions of Sarpanch. 

17- vkS/kksxhdj.k ds nks ifj.kkeksa dh ppkZ djsaA 

Describe two consequences of industrialization. 

18- xzke lsod ds nks dk;ksZa dk o.kZu djsaA 
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Describe two functions of Gram Sevak.

19- ckfydk rLdjh ls vki D;k le>rs gSaa \ 

What do you eman by girl trafficking? 

20- fyax vlekurk D;k gS\ 

What is Gender inequality ? 

21- mTtoyk ;kstuk D;k gS \ 

What is Ujjawala Scheme ? 

22- ikWDlks dkuwu D;k gS \ 

What is POCSO law ? 

23- csjkstxkjh dks ifjHkkf"kr djsaA 

Define unemployment. 

24- lkekftd ifjorZu ds nks dkj.kksa dk mYys[k djsaA 

Explain two causes of social change. 

25- Lo.kZ t;arh jkstxkj ;kstuk D;k gS \ 

What is swarna Jayanti employment scheme ? 

26- tulapkj ds nks egRo dk o.kZu djsaA 

Describe two importance of Media.

27- cky dY;k.k ls vki D;k le>rs gSa \ 

What do you mean by Child Welfare ? 

28- tutkfr;ksa dh fdUgha nks leL;kvksa dk o.kZu djsaA 

Describe any two problems of tribes. 
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29- vuqlwfpr tkfr ls vki D;k le>rs gSa \ 

What do you mean by Scheduled Caste ? 

30- miHkksDrkokn D;k gS \ 

What is consumerism ? 

Long Answer Type Questions

iz’u la[;k 31 ls 38 nh?kZ mÙkjh; iz’u gSaA fdUgha 4 iz’uksa ds mÙkj nsaA izR;sd ds fy, 5 

vad fu/kkZfjr gSaA          (4x5=20) 

Question no. 31 to 38 are Long answer type questions. Answer any 4 

questions. Each question carries 5 marks.    (4x5=20) 

31- eqfLye fookg ds fofHkUu izdkjksa dk o.kZu djsaA 

Describe the different types of Muslim marriage ? 

32- lkekftd ifjorZu esa uxjhdj.k dh Hkwfedk dk fo’ys"k.k djsaA 

Analyse the role of urbanization in social change. 

33- tkfr O;oLFkk dh izeq[k fo’ks"krkvksa dk mYys[k djsaA 

Explain the important features of caste system. 

34- ukrsnkjh dh jhfr;ksa dh foospuk djsaA 

Discuss the usages of Kinship. 

35- lkEiznkf;drk ij ,d lekt’kkL=h; fuca/k fy[ksaA 

Write a sociological essay on communalism. 

36- lkekftd ifjorZu esa tulapkj ds lk/kuksa dh Hkwfedk dk fo’ys"k.k djsaA 
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Analyse the role of the means of mass media in social change. 

37- vYila[;dksa ds izeq[k leL;kvksa dk o.kZu djsaA 

Describe the main problems of minorities. 

38- gekjs lekt esa ckfydkvksa ds fo:) gksus okys foHksnksa dk o.kZu dhft,A 

Describe the discriminations made against girl child in our society. 


